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Paper : ECO-HC-3036
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Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
were MAIARA fie) Sepifs Tee foret

(@) Which measure of central tendency is
known as positional average?

(FEA CRTON (PR (T FFTS oG qfey

Gl IF ?
(b) What is the SD of the following values?
Ty Ty T T X
o AT T (e & 2
Fohe T A, 7
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(2)

(c) What is Mmeant by ‘Kurtosjs’
I IE o =12
(d) What doe; r =0 signify?
r=0 R 3% 3¢9 9
(e) Define a random varjgpe.

AT 57159 iy oy |

) In a Poisson distrip
variance = 8.

% (Write True or False)
B M5’ I57S 55 = 7, oprae = g

(&= @1 e foray)
(9) E(g= ?, where ¢ is a constant,
Elc) = ? 3°S ¢ tarz b1 g5 |
(h) If P(A or B)=PA)+ P

(B) - P(A A B), then
the nature of the events

(i)  What is joint probabiljt

y diStributionD
PR el frewq i '

( Continued )

ution mean = 7
El
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2. Answer the following questions : 2x5=10

@ed #HCAES Teq o9

(a) For any two unequal positive numbers
a and b, prove that AM > GM.

RCHICA W01 P 4F ] a E B q00d
21 91 & AM > GM.

(b) What is the probability that a non-leap
year will contain 53 Fridays?

9l S-SEET qE 530 WER  GiER
e e 2

() If the covariance between x and y
variables is 12 and variances are 16 and
9 respectively, find the correlation
coefficient between x and y .

3t x W y B o T2 12 T AF PR
TR 16 TF 9 2W, (T2 T HAFONR S

TR Tfeta |
(d If X, is a random variable with
respective  frequencies  f; where

i=1,2,3, -, n, show that E(X) = X.

3 X, b1 Aies ¢ W IR IR S =,
TS i=1,23 +,n, (ERE YA A
EX)=X.

() Mention two methods of random
sampling.

i Afevtma o1 “rafs Trme 3w |
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(4)

3. Answer any four of the following questions :
5x4=20
1S 181 erprRa R v Taq ot

(@) Find the first four moments about the
mean from the following distribution : ;

O ROI[ qum

[l
S . am oo gl
Heights (inch) . g
e (3fis) 0762 63-65 66-68 69-71 72-74
Frequency .
RSB 2 18 42 27 8

(b) Prov
€ that Kap Pearson correlation

coeffici i
ent lies between +land 1. >
T @ I Pz R
~-13 T5e A | Tl
¢l D i
(c) p((j:;neo conditiong] Probability. If
= . 0 .
one of A4;r I:)ESS)—T)O? and P (at least
i 8, find P (only one of 8
2+3=
T Fifirery & fiy |

P(B) =. :Iﬁ P = .4’
0’ %, s (S A s 1
ﬁﬁ)ﬁ%@a@%glp(’* OIE By R
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( Continued )

4.

(S)

(d) A random variable X has the following
probability distribution :
9B AR e X @ e RISl %79

YA IR T

X BEy Aeeast TG S Sl 11,

P : 01 03 04 02 05 03
Find mean and variance. 5

51G [ 23ae Sfered |

(e) Explain the principal steps of a sample
survey. 5

oiforae “Tafed RiSH BIER SCEmw 41 |

Answer any jfour of the following questions :
10x4=40
o R BifEot 2R Teq fors

(a) What is dispersion? What are its various
measures? Find the variance from the
following table :
favgee T 62 TR fKfen @R 2 e e
SIFPRAE [T 7R Tfeie

Age (years) : 20-30 3040 40-50 50-60 60-70
777 (IA)
No. of persons : 170 110 80 45 40

7z T

Which measure is known as the ideal
measure of dispersion? 2+2+5+1=10

R @Gl @ W @ o
=72 -

22A/41 ( Turn Over )




(b) Disti
IStmguish e
een

(c)

22A/41

( 6)

negativ 2.

€ correlation F'pcf;Sltwe e
- Fin

the rank

correlati

fOHOWin;OI; Ii)letWEc‘n Nty
able : from th

X e

13
LOWL7 PSR
3 12
Anal

R R ey |

3+5+2=10

i St cpane:
SS1o
t n.
b}llaal t they are ;U 2
re oK ped and r-a
placed after eWhl
ach

at is

wn inthe Probability
te if th the order of
€ balls are not

TBfFer 2 draw?
<1 3 By 5+5=10
eI 57 1 3

( Continued )

(7)

s of & Binomial
test of
42 and

onstant
n an intelligence

Obtain the ©
the average was

distribution. 1
1000 childrens,

(d)

sD was 24
(i) Find the aqumber  of children
exceeding 2 score of 50.

number of children lying
es 30 and 54

e value of score exceeded by
5+2+2+1=10

(i) Find th
the top 100 children.
@g1 | 1000 g

o 39 e
Wﬁwﬂ%ﬁer@m 42, I T
24.

() SO e T T

el
i) 30 F 54 st g ¢l B R

el

{ii) Find the
petween scor!

firgq TR

33)=0-1293,

PO<sz="
=0-30854

PO = z <)

ish between probability
function and probability

{e) mass

density function.
( Turn Over)
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(8)

(i) A problem of chemistry is given to
three students A, B and C whose
chances of solving the problem are
S and% respectively. What is the
probability that the problem will be
solved?

(i) Under what conditions Binomial
distribution tends to normal

distribution? 3+4+3=10
() el $3 o o Sy TG T
(1257 ferar |

(i) ¥ e Rew= 91w A, B W co
SEF R T oW W S e
el WM FAEE PO T A

CSCTR'CE L] T (EER s
w1 2

(i) R (I 569 SRS ol 35 Srgmer
IBeT SIS =7 9

() Explain the different types of sampling
with their relative merits and demerits, 10

Afonsa Rfen ez sefire BINGRT e
S 1 |
* %
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